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Directions (1-15): TFATal@d e 92T H &I THIRIOT ST 1T §| THRION &l goT Y
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.8x*+6x=5
o 1L12y*-22y+8=0

() IfE x<y
(b) I x <y
() I x>y
(d)IEx2y
(e) M x =y AT x 3R y & ALY FFraeY TATAT gl [hdT ST Tehdl
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[.18x*+18x+4 =0
0 1L12y%+29y+14=0
(a) Tfe x <y
(b)aRx <y
(I x>y
(I x2y

(e) TG x = y IT x IR y & AL Fraey TAMAT g [T ST Fehcll
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Lx2-16=0
2 _
0w 1Ly -9y+20=0
(a) AR x <y



(b)IEx<y
(I x>y
(d)IEx2y
(e) TS x = y AT x 3R y & 7LT Foaew T A1 Tham ST FeheT
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.x*-32=112

o4 II.y-+v169 =0

(a) T x <y

(b) Il x<y

(IEx>y

(d)Ifgx=2y

(e) TG x = y AT x 3R y o ALY Traey TUTAT Al TohdT ST bl
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L2x*+11x+14=0
2 _
Q5. [I.4y"+ 12y +9 =0

(a) Tfe x <y
(b) IfEx<y
() IEx>y
(M ICEx=y

(e) TG x = y IT x IR y & AL Fraey TAMAT g [T ST Fehcll
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Lvx—2=0
VX
3

(a) AR x <y



(b) TR x>y
(afgx<y
(d)IEx2y

(e) T x = y AT x 3R y & ALY Foaey AUTRT 7T Fam ST Feher
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[.3x —2y =10
Q7. II.5x — 6y =6

()R x<y
(b) IR x>y
(afgx<y
(M ICEx=y

(e) IfE x = y AT x 3R y & ALY Feawer AuTRa A&7 fovar ST Fepar
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Lx24+x—-12=0
@ Ly> =5y +6=0
(@TfEx<y
M) I x>y
(@ 3fgx<y
(IEx2y

(e) TG x = y AT x 3R y & ALY Ty e w1ET fohar 1 Fehel
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Lx*4+9x+18=10
0o 1LY% — 13y + 40 =0

(a) AR x <y
(D) x>y



(afgx<y
(d)IEx2y

(e) T x = y AT x 3R y & ALY Foa=y AUTRT 7T Fam 31 Fher
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LVx+6=1+121—-36
qt0. 1L ¥? + 112 = 473
(@) AR x<y
M) I x>y
(afgx<y
(dIfEx=2y

(e) IfE x = y AT x 3R y & ALY Feawer AuTiRa AT fovar ST Fepar
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.x2 —24x+144=0
11 1L y* — 26y +169 = 0
(@) Tfex<y
M) I x>y
(@ 3fgx<y
(@IEx2y

(e) T x = y AT x 3R y & ALY FFaeY TUAT el ThAT ST Hehl.
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.2x2+3x—-20=0
12, 1L 2y + 19y + 44 =0
(@) R x <y
(b) IR x>y
(Igx<y



(d)IEx2y

(e) M x = y AT x 3R y & ALY FFaeY TUAT el ThaT ST Hehl.
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L. 6x> +77x+121=0
013, I.y2+9y—22=0
(@3Tfex<y
b) I x>y
(@ 3fgx<y
(I x2y

(e) TG x = y AT x 3R y & ALY FFaey TATAT AT ThaT ST Fehel.
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Lx2—6x=7
1. 11 2y*+ 13y +15=10

(@) Tfex<y
M) I x>y
(@ 3fgx<y
(M ICEx=y

(e) TG x = y IT x IR y & ALY Foaes TAAA Ag! [hAT ST HehcT,
L1Difficulty 2
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.10x2 —7x4+1=0
015 1135y =12y + 1 =10
(@I x<y
(b)IfEx>y
(afEx<y
(d)IEx>y
(e) T x = y AT x IR y & ALY Fraes TS Al [HIAT ST FeheT,
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Solutions

S1. Ans.(b)

I.8x* +6x-5=0
8x*+10x-4x-5=0
2x(4x+5)-1(4x+5)=0
(4x+5)(2x-1)=0

-51

42

IL 12y*-22y+8=0
12y* - 16y -6y +8=0
4y (3y-4)-2(3y-4)=0
(By-4)(4y-2)=0

X =

4 2
F=— or—
y=3%%
=X
Sol. y
S2. Ans.(d)

I 18x*+18x+4=0
18x* + 12x + 6x+4=10
6x (3x+2)+2(3x+2)=0
(Bx+2)(6x+2)=0
—2 —1

X=—0r —
3 3

IL 12y° + 29y + 14 =0
12y* + 21y + 8y + 14 =0
3y (dy+7)+2(4y+7)=0
(4y+7) (By+2) =0
A
y = n or 3

X =
Sol. Y

S3. Ans.(b)



Lx2-16=0
Xx=t4

ILy*-9y +20=0
y> -5y -4y+20=0
y(y-5)-4(y-5)=0
(y-5) (y-4)=0
y=5or4
V=X

Sol.

S4. Ans.(a)
I x* =144
x=x12
ILy= 169
y=13

X
Sol. y

S5. Ans.(a)
L2x*+11x+14=0

2%+ Tx +4x+ 14 =0
X(2x+7)+2 (2x+ 7) =0

—7
x=—or—2
2

IL 4y* + 12y +9=0
4y* + 6y +6y +9=0
2y (2y+3) +3 (2y+3) =0
(2y+3)(2y+3)=0

-3 —3
= — or—
Y=

=X
Sol. y
S6. Ans.(e)

LVx XvVx=vV6=x=+6

1
3 34 5 1
Ly’ =62=y=(62) =62=16

x pomd
Sol. 4



S7. Ans.(b)
On (i)x3 - (ii)
O9x - 6y =30
—5x+6y=—-6
dx= 24=x=6

vy =4 x>y
Sol.

S8. Ans.(e)
Lx*+x—12=0
x2+4x—3x—12=0
x(x+4)—-3(x+4)=0
(x+4)(x—3)=0
x=—43
ILy>—5y+6=0
y:—3y—-2v+6=0
yiy—3)-2(y—3)=0
Y-y —2)=0
yv=232
Sol. horelation

S9. Ans.(a)

Lx?+6x+3x+18=0
x(x+6)+3(x+6)=0
(x+6)(x+3)=0
x=—6—3

IL.y>?—8y—5y+40=0
y(y—8)—-5(y—-8)=0
(y—8)(y—5=0
y=28>5

Sol. X<y

S10. Ans.(d)



Sol.

LVx+6=11-6
=Vx+6=5
x+6=25
x =19

ILy% + 112 = 473
y? =473 - 112 = 361
y==+19
X2y

S11. Ans.(a)

[x? —24x+144 =0

or,x? —12x —12x + 144 =0
or,x(x —12)—12(x—12) =0
or,(x —12)* =10

ax =12

II.y2 — 26y + 169 =0
or,y?—13y — 13y + 169 =0
or,y(y —13) —13(y—13) =0
or,(y —13)* =0

Sy =13

Hence, x <y

Sol.

S12. Ans.(d)

2y*+3x—20=0
Or,2x>+8x—5x—20=0
or,2x(x +4)—5(x+4)=0
or, 2x = 5)(x+4)=0

5
or,x ==, —4

I1.2y* + 19y +44 =0

Or,2y?+ 11y +8y+44=10
or,y(2y +11)+ 42y +11) =0
or,(y +4)2y+11) =10

y = —4,—% Hence,x = vy

Sol.



S13. Ans.(e)
L6x2+77x+121=0
or,6x® +66x +11x+121 =0
or,bx(x +11)+ 11(x+11) =0
or,(6x +11){(x+11) =0

11
or, X = ——, —11

ILy*+9y—22=0

or,y* +1ly —2y—22=10
or,y(y +11) — 2(y + 11)
or,(y—2)(y+11) =0
or,y=2,—-11

Hence, no relationship can be

Sol established between x and y.

S14. Ans.(b)
Lx2—6x=17
or, x> —6x—7=0
or, x> —Tx+x—7=0
or,x(x—7)+1(x—-7)=0
or,(x+1)(x—7)=0
or,x=-1,7

IL2y% + 13y + 15 =0
or,2y*+ 10y +3y+15=0
or,2y(y+5)+3(v+5)=0
or, 2y +3)(y+5)=0
or,y = —3,—5

Sol. Hence, x>y

S15. Ans.(d)



Sol.

.10x*—7x+1=0

or,10x> —5x—2x+1=0
or,5x(2x —1)—1(2x—-1)=0
or,(bx —1)(2x—1) =0
WJ=;§

.35y — 12y +1=0
or,35y* —7y—5y+1=0
or,7y(by —1)—1(5y—-1) =0
or, 7y —1)(5y—1)=0
11

's

or,y =
Hence, x = y



